Quick Starts

X10 +10 x100

1. 03x0.11=
2. 213+927+0.75+0.002 | -
3.  10% of £120.00 45
4. 1% of £120.00 67
5. 25% of £120.00 1234
6. 50% of £120.00 5
7. 100% of £120.00 —
8. 75% of £120.00

50
9. 1/7of 14+
10.  5/7of 14= L A film starts at 6. 12pm hut is 24 minutes late.
. 2x2.98= What time does it start
12.22- 2.01 =

2. The bus arrives ot the station at 13. 45 It is
13.622x 12 = late by 47 minutes. What time does it arrive?
14. 62- (6 x 3) =
Quick Starts
X10 +10 x100

1. 03x01l=
2. 213+927 +0.75+0.002 |* -
3. 10% of £120.00 45
4. 1% of £120.00 67
5. 25% of £120.00 1234
6. 50% of £120.00 5
7. 100% of £120.00 _—
8. 75% of £120.00

50
9 1/7 of 14 =
10. 5/70f 14+ | A film starts at 6.12pm but is 24 minutes late.
1. 2x2.98 What time does it start
12.22- 2.01 =

2. The bus arrives at the station at 13. 45 Lt is

13. 622 x 12 =

14. 62- (6 x 3) =

late by 47 minutes. What time does it .arrive?




Quick Starts

X10 +10 x100

1. 03x012=
2. 213+97+0.75+0002=|°
3.  10% of £20.00 80
4. 1% of £20.00 123
5.  25% of £20.00 3
6 50% of £20.00 7.89
7. 100% of £20.00 oa
8. 75% of £20.00

0.099
9. 1/7of21=
10.  5/7of 21 = A film starts at 6.12pm but is 2 hours andb
11, 4 x2.98= minutes late. What time does it start.
12.42- 201 =

2. The bus arrives ot the station at 13. 45 It is
13.422x 12 = late by 3 hours and 47 minutes. What time
14, 42- (6 x 3) = does it arrive?
Quick Starts
X10 +10 x100

1. 03x012=
2. 213+97+075+0002=|°
3.  10% of £20.00 80
4. 1% of £20.00 123
5.  25% of £20.00 3
6. 50% of £20.00 2 89
7. 100% of £20.00 en
8. 75% of £20.00

0.099
9 1/7 of 21 =
10.  5/7of 21 = A film starts at 6.12am but is 2 hours andk
11. 4 x298= minutes late. What time .does it start.
12.42- 201 =

2. The bus arrives at the station at 13. 45 It is

13. 422 x 12 = late by 3 howrs and 47 minutes. What time
14. 42- (6 x 3) =

does it arrive?




Quick Starts

14.772- (6 x 3) =

X10 +10 x100
1. 03x013=
2. 3313+97+0.35+0002 |’ =
3.  10% of £180.00 4.673
4. 1% of £180.00 50
5. 25% of £180.00 11
6 50% of £180.00 8.125
7. 100% of £180.00 P
8. 75% of £180.00
3

9. 1/70f35-=
10.  5/70f 35= |l A film starts at 6.12om hut is 2 hours andb
11, 4 x5.98= mirutes early. What time does it start.
12.42- 7.01 =

2. The bus arrives ot the station at 13. 45 It is
13.722x12 = carly by 3 hours and 47 minutes. What time
14.772- (6 X 3) = does it arrive?
Quick Starts

X10 +10 x100
1. 03x013=
2. 3313+97+0.35+0002 |’ =
3. 10% of £180.00 4.673
4. 1% of £180.00 50
5. 25% of £180.00 11
6 50% Of EIS0.00 8.125
7. 100% of £180.00 P
8. 75% of £180.00
3

9. 1/70f35=
10.  5/7of 35= A film starts at 6.12pm but is 2 hours andb
11. 4 x598= minutes early. What time .does it start.
12.42- 7.01 =

2. The bus arrives at the station at 13. 45 It is
13.722 x 12 =

early by 3 howrs and 47 minutes. What time

does it arrive?




Quick Starts

: 0.3 x 0.15 X10 +10 x100
O X U, =
2. 3513+97+0.35+0002 | =
3.  10% of £80.00 3.123
4. 1% of £80.00 9
5. 25% of £80.00 80
6 50% Of 'ES0.00 124
7.  100% of £80.00 een
8. 75% of £80.00
18.23
9. 1/80of 64-=
10.  5/8 of 64= A film starts at 6.12pm but is 49 minutes early.
11. 8x5.98= What time .does it start.
12.82- 7.01 =
2. The bus arrives ot the station at 13. 45 It is
13.822 x 12 = early hy 47 minutes. What time does it arrive?
14, 872- (6 x 3) =
Quick Starts
: 03 015 X10 +10 x100
D X U, =
2. 3513+97+0.35+0002 |/ =
3.  10% of £80.00 3.123
4. 1% of £80.00 9
5. 25% of £80.00 80
6 50% of £80.00 124
7. 100% of £80.00 eea
8. 75% of £80.00
18.23
9. 1/80of 64-=
10.  5/8 of 64= L A film starts at 6.12pm hut is 49 minutes early.
11. 8x5.98= What time .does it start.
12.82- 7.01 = _ . .
2. The bus arrives at the station at 13. 45 Lt is
13.822x 12 =

14.872- (6 x 3) =

early by 47 mirutes. What time does it arrive?




Quick Starts

1 06 x 01 X10 +10 x100
O XxXx0Ul=
2. 63+927+075+0002 |*®¥! -
3.  10% of £160.00 45
4. 1% of £160.00 8
5. 10% of £370.00 12
6. 1% of £370.00 .
7.  10% of £90.00 5
8. 1% of £90.00
5
9 1/8 of 32 =
10.  5/80f32= L A film starts at 6. 55m but is 34 minutes late.
. 6x228= What time does it start.
12.29- 2.81 =
2. The bus arrives ot the station at 13. 05 It is
13.226 x 12 = late by 57 minutes. What time does. it arrive?
14, 62- (4 x 3) =
Quick Starts
1 06 x 0.1 X10 +10 x100
6x0.1=
2. 63+927+075+0002 |*%! _
3.  10% of £160.00 45
4. 1% of £160.00 8
5. 10% of £370.00 12
6. 1% of £370.00 .
7.  10% of £90.00 5
8. 1% of £90.00
5
9. 1/80f32:=
10. 5/80f 32= . Afilm starts at 6 55om but is 34 minutes late.
1. 6x2.28= What time does it start.
12.29- 2.81 = _ . .
2. The bus arrives at the station at 13. 05 Lt is
13.226 x 12 = late by 57 minutes. What time .does it .arrive?
14. 62- (4 x 3) =




